
 

   

  

Year 2 – Reciprocal Trigonometric Functions 2 

Solve the equation cot𝜃𝜃 cosec𝜃𝜃 = 2 cosec𝜃𝜃, giving 
all values of 𝜃𝜃 in the interval −𝜋𝜋 ≤ 𝜃𝜃 ≤ 𝜋𝜋. 

Give your answers in radians to three significant 
figures. 
 

SOLVING EQUATIONS | EXAMPLE-PROBLEM PAIRS 

4.1e 

 

Solve the equation 2 cosec2 𝜃𝜃 + 5 cosec𝜃𝜃 = 3, 
giving all values of 𝑥𝑥 in the interval 0 ≤ 𝜃𝜃 ≤ 2𝜋𝜋. 

Give your answers in radians to 2 decimal places. 
 

4.1p 

 

 

Name: 

Video Tutorial: parkermaths.com/link/y2trig1 

              

              

              

              

              

              

              

              

              

 

              

              

              

              

              

              

              

              

              

  

(a) Simplify sec𝜃𝜃 cot𝜃𝜃. 

(b) Simplify 
cot𝜃𝜃

cosec𝜃𝜃
. 

 

4.2e 

 

(a) Simplify sec𝜃𝜃 sin𝜃𝜃. 

(b) Simplify 
cosec𝜃𝜃

sec𝜃𝜃
. 

 

 

4.2p 

 

              

              

              

              

              

              

              

              

              

              

 

              

              

              

              

              

              

              

              

              

              

  

                     

 KEY FACTS 

http://parkermaths.com/link/y2trig1


 Solve the equation 3 cosec𝜃𝜃 = 2 tan𝜃𝜃, giving all 
values of 𝜃𝜃 in the interval 𝜃𝜃 ∈ [0,2𝜋𝜋]. 

Give your answers in terms of 𝜋𝜋. 
 

 

4.3e 

 

Solve the equation sec𝑥𝑥 − cot𝑥𝑥 = 0, giving all 
values of 𝑥𝑥 in the interval 𝑥𝑥 ∈ [0,2𝜋𝜋]. 

Give your answers in radians to 2 decimal places. 
 

4.3p 

 

              

              

              

              

              

              

              

              

              

              

              

              

 

              

              

              

              

              

              

              

              

              

              

              

              

 

Solve the equation 2 tan2 𝜃𝜃 = 1 − sec𝜃𝜃, giving all 
values of 𝜃𝜃 in the interval 𝜃𝜃 ∈ [0°, 360°]. 

Give your answers to the nearest degree. 
 

 

5.2e 

 

Solve the equation cosec2 𝑥𝑥 + 2 cot𝑥𝑥 = 9, giving all 
values of 𝑥𝑥 in the interval 𝑥𝑥 ∈ [0,2𝜋𝜋]. 

Give your answers in radians to three significant 
figures. 
 

5.2p 

 

              

              

              

              

              

              

              

              

              

              

              

              

 

              

              

              

              

              

              

              

              

              

              

              

              

 

PROOF | DERIVING THE RECIPROCAL TRIGONOMETRIC IDENTITIES 

sin2 𝑥𝑥 + cos2 𝑥𝑥 ≡ 1 

 

Divide both sides 
by sin2 𝑥𝑥 

Divide both sides by 
cos2 𝑥𝑥 

sin2 𝑥𝑥 + cos2 𝑥𝑥 ≡ 1 
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